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Ihaq‘m‘ 2 : Outones , everts and pranba(rg
Jgston 1,

<t E ad F be two etents m o Somple space for which
(E)=2 and PE)I=4 and PEUF)=3 whetis PENF)?
NEUP) =PE) +PP -PENF) . #
> PENF)=P(E)+PIF) - PIEUF) =-3l+-5-—3=\.k. /

estion 2
o Aad B be two eents for uhich one knows that the
wbabilrty Hot at st ove of them ocours is %
Vhat is the probility ot nether A o B ocaurs 9
b - s ore of DeMorgan's laws - AcﬂBC=(AUb)C
rom eMorgar's laws,

he probability that netter A nor B ocars s
P(AENB®) = P((AUBIc) =1-Puays) = 1- 2532 =2
Mestn 3

Ve omsider events A& and C,which an occur m some
Xferment. Ts 1 true at the

fes .ivis True .

The pobabilrty thot only A ocawrs is
Pcansence) = PAn@ue®) = Piby—P(AnEue)
= Py)~ P(anBY(ANG)

= PiA) - [ Pane)+PrAnc) - Panenc
From (), we. get

P(ANBENCE) = pAVBYC) -P®- PO+ Pie
duestion 4 |
@ A: {TTH, TRT.ATTY
B. {TTH, THT. HTT, TTT}
C: {HHH, HTH, AFTL.RTT]
D.THH. TTH, THT.TTT}

(b) AS. SHHH . THH,HTH, KR, TTT}
AU(COD) : {TTH.THT, HTT]

Anoc : 1HTT}

probability ot only A scowrs
and ot B Or C) is e‘i‘l“l W P(MBUIZ?-\’(B)';\C%“'P‘B"C)?

’f . PavBuC)= P+ Per+ A O~RANB)-PANO-RBNC) g
+P(AnBNC)
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(B) Denote. the avent. *C is one.of /osen possitlitres
Thus A={c.on.ccby.c.d) a.g. b.0). d ) YA
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